SCrAE WA Jg 0 FI2E L ET L=
ojcilA =Zaixy
&= 4Y/HIFE olnfx]

© HEINRICH KIPP WERK GmbH & Co. KG

|>
o
rlo
|>
m
=

)

oY
HE MY )
=2 2E= M ol o8t HF fxl9
HZE2 W x|5HoF 5t R0l AFSE
HX EEE £E2Z E R LIE X2
-rIiIE olse = US
2 AIZHE2{ QD HZ ElO|CHA| Bl
*° &X|5H7| YIHME EFY C EE= DE
IooHOF I
THE!:
2B HT:
LIASE &2|2 2 &2 E 3T

AEHQIE|A AE! A A2:

LIAF £2/E 1.4305.

=2 El A3t 1.4034.

= Elo| ZEtE|X| £ S 1.4305.

HAY O8] WitAN E5|M T E AlS S wZHAH RAL3020.

LEAb 22|12, 4 &3t 2]
=3 E, Esl, oot aeln A AR 2l

A3 B, B8t 2 ol R A2l
&3 B, 2P U oo, 2 A2

S E, Aot 2 sket L 3
&3 ©, ook, 2T x2

A}REI MZE ChFE REE AtE0| 7hsEFLict.
DH$ £2 LAlMo| 278 B9 AHQIEIA AL A4 QISIA B2IX]
Agsts 2ol EaLict

i

Al
E4 MA HE.

www.kipp.com - info@kipp.com 1/4



EAE| HAE J-IT FI2E LT} O A £2 Ao~
QleiA Zeik]

=N
D2
[}
Y SW1
AN
~J
- | SW2
|
T~
™
el |
\ L
——
\ v
[}
0,02
D-004
D1
EZ= 29
F2Hs E  2ZX XA A EH TAEE AAL D D1 D2 L L1L2L3 AE SWI1SW2 Fx A[EF EfY
& g7 72 =A 23 30° B B=E
S F1 F2
ok N 2N
K0338.2903 B AE - EE: ZA3[M RAL 7021 3 M6x0,751431,512510 35 8 10 08 45 10
K0338.2004 B AEl - st Z3|M RAL 7021 4 M8x1 1838515613 4 10 13 1 6 12
K0338.2105 B AE - A3t Z3|M RAL 7021 5 M10x1 2143517715 5 13 17 1,3 5 12
K0338.2206 B AEl - PEE Z3|M RAL 7021 6 M12x1,52551,720817 6 14 19 1,8 6 14
K0338.2308 B AE] - 235t 3| RAL 7021 8 M16x1,533 68 261023 8 19 24 23 15 35
K0338.2410 B AR - A3t 43| RAL 7021  10M20x1,533 74 281225 10 22 30 28 15 34
K0338.2412 B AEl - PEET Z43|M RAL 7021 12M20x1,533 78 281425 12 22 30 28 15 39
K0338.2516 B AE - 235t Z3|M RAL 7021 16 M24x2 40 96 321828 16 27 36 32 20 46
K0338.290384 B AE - A5t AESE w 3 M6x0,751431,512510 35 8 10 0,8 45 10
Z+ RAL 3020
K0338.200484 B AEl - A3t MES w 4 M8x1 1838515613 4 10 13 1 6 12
Z+ RAL 3020
K0338.210584 B AEl - ast AMESE 5 M10x1 2143,517715 5 13 17 1,3 5 12
Z RAL 3020
K0338.220684 B A&l - PEE AMSE W 6 M12x1,52551,7208 17 6 14 19 1,8 6 14
Z RAL 3020
K0338.230884 B AEl - PEET AES w 8 M16x1,533 68 261023 8 19 24 23 15 35
Z RAL 3020
K0338.241084 B AE - Ast AE 5 w 10M20x1,533 74 281225 10 22 30 2,8 15 34
ZH RAL 3020
K0338.241284 B A& - A3t AES 12M20x1,533 78 281425 12 22 30 2,8 15 39
Zt RAL 3020
K0338.251684 B AE - A5t AEE W 16 M24x2 40 96 321828 16 27 36 3,2 20 46
Zt RAL 3020
K0338.02903 B fEﬂO._II 14034 73 Z3|M RAL 7021 3 M6x0,751431,512510 35 8 10 08 45 10
A AE
K0338.02004 B AE|QI 1.4034 Zast Z3|M RAL7021 4 M8x1 1838515613 4 10 13 1 6 12
oA AE
K0338.02105 B fEﬂo"ll 1.4034 PEE Z3|M RAL7021 5 M10x1 2143517715 5 13 17 1,3 5 12
BlA AE
K0338.02206 B fEﬂo“ll 1.4034 A%t Z3|M RAL 7021 6 M12x1,52551,720817 6 14 19 1,8 6 14
A AE

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  2/4



SclAE HAE A8 FI2E LEJ = 28 £2 2|

oleiA ZEi%

ZZ 29
z2Hs E 22X ME A EH A AL D D1 D2 L L1L2L3 2E SW1SW2 Fx Al Ebd
&l g7 7|12 34 23 30° Bty B=
S F1 F2
%N 9N
K0338.02308 B AE0] 1.4034 EED ZA3[M RAL 7021 8 M16x1,533 68 261023 8 19 24 23 15 35
BlA AE
K0338.02410 B AE|Ql 1.4034 PEE 3| RAL 7021  10M20x1,533 74 281225 10 22 30 28 15 34
HA AE
K0338.02412 B EN=] 1.4034 PEET 3| RAL 7021  12M20x1,533 78 281425 12 22 30 28 15 39
A AE
K0338.02516 B AE|Q! 1.4034 Qs 3|4 RAL 7021 16 M24x2 40 96 321828 16 27 36 32 20 46
tA AE
K0338.0290384 B EN=e 1.4034 7@ S5 w 3 M6x0,751431,512510 35 8 10 0,8 45 10
BlA AE Z RAL 3020
K0338.0200484 B ENZT 1.4034  As AESE W 4 M8x1 1838,515613 4 10 13 1 6 12
BlA AE Zt RAL 3020
K0338.0210584 B AH|Ql 1.4034 33t AMESE 5 M10x1 2143,517715 5 13 17 1,3 5 12
BlA AE Z+ RAL 3020
K0338.0220684 B EN= e 1.4034 z3t S5 w 6 M12x1,52551,720817 6 14 19 1,8 6 14
glA AE Z RAL 3020
K0338.0230884 B AE|Ql 1.4034 PEE A5 w 8 M16x1,533 68 261023 8 19 24 23 15 35
BlA AE Z RAL 3020
K0338.0241084 B AE|Ql 1.4034 Qs AE 5 w 10M20x1,533 74 281225 10 22 30 28 15 34
A AR ZH RAL 3020
K0338.0241284 B EN= 1.4034  ZAst X 12M20x1,533 78 281425 12 22 30 28 15 39
BlA AE Zt RAL 3020
K0338.0251684 B ENZ 1.4034  ZAs AESE w 16 M24x2 40 96 321828 16 27 36 32 20 46
A AE Zt RAL 3020
K0338.12903 B AE|Q 1.4305 HIZS Z3|M RAL 7021 3 M6x0,751431,512510 35 8 10 0,8 45 10
gla AR
K0338.12004 B AH|Q! 1.4305 H|Zs Z35|M RAL7021 4 M8x1 1838515613 4 10 13 1 6 12
BlA AE
K0338.12105 B fE“o"|| 1.4305 H|Z3 ZS|M RAL7021 5 M10x1 2143517715 5 13 17 1,3 5 12
BlA AE
K0338.12206 B lﬁEﬂO_lI 1.4305 H|ZE Z3|M RAL 7021 6 M12x1,52551,720817 6 14 19 1,8 6 14
BlA AR
K0338.12308 B AH|Ql 1.4305 HIZF Z3|AM RAL 7021 8 M16x1,533 68 261023 8 19 24 23 15 35
tA AE
K0338.12410 B AE|Q 1.4305 HIZS 3|4 RAL 7021 10M20x1,533 74 281225 10 22 30 28 15 34
A AE
K0338.12412 B AE|Q 1.4305 HIZS 43| RAL 7021  12M20x1,533 78 281425 12 22 30 28 15 39
Bla AE
K0338.12516 B AE|el 1.4305 HIZS Z3|M RAL 7021 16 M24x2 40 96 321828 16 27 36 32 20 46
BlA AE
K0338.1290384 B AE|Ql 14305 H|ZE AES w 3 M6x0,751431,512510 35 8 10 0,8 45 10
BlA AE Z RAL 3020
K0338.1200484 B EN=T 1.4305 H|ZE AEE w 4 M8x1 1838,515613 4 10 13 1 6 12
A AE Z RAL 3020
K0338.1210584 B AE|Q! 1.4305 H|ZHS AE 5 w 5 M10x1 2143517715 5 13 17 1,3 5 12
BA AE ZH RAL 3020
K0338.1220684 B EN= 1.4305 HIZE X 6 M12x1,52551,7208 17 6 14 19 1,8 6 14
BlA AE Z RAL 3020
K0338.1230884 B ENZe 1.4305 HIZE AEE W 8 M16x1,533 68 261023 8 19 24 23 15 35
BlA AE Zt RAL 3020
K0338.1241084 B AE|el 1.4305 HIZS AES w 10M20x1,533 74 281225 10 22 30 2,8 15 34
BlA AE ZH RAL 3020
K0338.1241284 B AE|Q 1.4305 H|ZE AMSE w 12M20x1,533 78 281425 12 22 30 2,8 15 39
glA AE Z RAL 3020
K0338.1251684 B AE|QI 1.4305 H|ZS AE S w 16 M24x2 40 96 321828 16 27 36 32 20 46
BlA AE Z RAL 3020
K0338.62903 B EN= 14404 LA EZ 3|4 RAL 7021 3 M6x0,751431,512510 35 8 10 08 3 6,5
oA AE! do|E
K0338.62004 B EN=e 14404 LA EZ ZA35|A RAL7021 4 M8x1 1838515613 4 10 13 1 7 15,5
tilA AE! HolE
K0338.62105 B ENZe 14404 LA E ZA3|M RAL7021 5 M10x1 2143517715 5 13 17 1,3 4 12,5
A AR glolE
K0338.62206 B fE“O“|| 1.4404 Lahlaél% ZA3|M RAL 7021 6 M12x1,52551,720817 6 14 19 1,8 7 14,5
BlA AE o|E
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  3/4



SclAE HAE A8 FI2E LEJ = 28 £2 2|

oleiA Zij

Z5 29
FE#s B EdME & E= FEEME D D1 D2 L L1L2L3 AE SWISW2 Fx AR EY
2 g7 78 = 23 30° EBe B=
S F1 F2
oF N 29N
AEO] =3 S
K0338.62308 B afflgg 1.4404 IEL%IE Z43[M RAL 7021 8 M16x1,533 68 261023 8 19 24 23 15 35
K0338.62410 B ESC 14404 LIHZ Z43|AM RAL 7021 10M20x1,533 74 281225 1
Ao o E , 0 22 30 28 15 30
K0338.62412 B AE|0l 14404 LA EZ Z3|M RAL 7021  12M2
a2y g 0x1,533 78 281425 12 22 30 28 15 39
K0338.62516 B EN= 14404 LA EZ Z43|M RAL 7021 16
By g M24x2 40 96 321828 16 27 36 32 20 40
K0338.6290384 B AH|Q! 14404 LA EZ AE S w 3 M6x0,751431,512510 35 8 10
L , , , 0,8 3 ,
A AR glo|E Z RAL 3020 &
K0338.6200484 B AH|Q! 14404 LA EZ A5 w 4 M8x1 1838,515613 4 10 13
Al ) 1 7 15,5
A& AE glolE Zt RAL 3020
K0338.6210584 B EN=e 14404 LA Z AMESE 5 M10x1 2143,517715 5 13 1
AME , 7 13 4
BlA AE #lolE 7 RAL 3020 125
K0338.6220684 B ESC 14404 LIHZ MBS
a2y a|1|o|§ A =5 6 M12x1,52551,7208 17 6 14 19 1,8 7 14,5
K0338.6230884 B AE|Ql 14404 LIHZ AEES M1
a2y g A RAfsozo 8 M16x1,533 68 261023 8 19 24 23 15 35
K0338.6241084 B AE|Ql 1.4404 LA EZ AES 10
by g A RAfsozo M20x1,533 74 281225 10 22 30 28 15 30
K0338.6241284 B AH|Q! 14404 LA EZ X 12M20x1,533 78 281425 12 22 30
Al ) 2,8 1
A AR go|E Z RAL 3020 ° %
K0338.6251684 B ESCT 14404 LA Z AES
ey ElﬁIE A RiA faﬁzo 16 M24x2 40 96 321828 16 27 36 3,2 20 40
K0338.72903 B Eff“/o'\‘lsl 1.4404 ﬁf;dgl 43| RAL 7021 3 M6x0,751431,512510 35 8 10 0,8 3 6,5
—_ == T
K0338.72004 B el 1.4404  AtQix Z35|M RAL7021 4 M8x1 1838515613 4
e e 4 , 10 13 1 7 15,5
K0338.72105 B AE|Ql 1.4404  Xtoix Z3|M RAL7021 5 M10x1 2143517715 5 13 17 1,3 4 12,5
& AE] o 2|
K0338.72206 B EN= 1.4404  X}oix Z3|M RAL 7021 6 M12x1,52551,720817 6 14 19 1,8 7 14,5
tilA AE] ot 2|
K0338.72308 B EN= 1.4404  Xtoix 43| RAL 7021 8 M16x1,533 68 261023 8 19 24 23 15 35
tilA AE! ot 2|
K0338.72410 B Eff“i‘lsl 1.4404 JDTEEI 43| RAL 7021  10M20x1,533 74 281225 10 22 30 28 15 30
—_— == T
K0338.72412 B Ef/\E‘”JOI\_lEI 1.4404 ﬁgg 43| RAL 7021  12M20x1,533 78 281425 12 22 30 28 15 39
—_ == T
K0338.72516 B ENCT 1.4404  K}Oi%] Z4E[M RAL 7021 16 M24x2 40 96 321828
e . 4 16 27 36 32 20 40
K0338.7290384 B el 1.4404  Xtoi™ AEES 3 M6x0,751431,512510 3,5 1
BlA AE ok el 2 RAL 3020 ’ ’ ’ 8 10 08 3685
K0338.7200484 B EN= 1.4404  Xtoix MBS 4
a2y e A RAfsozo M8x1 1838,515613 4 10 13 1 7 15,5
K0338.7210584 B AE|Ql 1.4404  Xtoix MBS
ey DL‘%EI A RAfsozo 5 M10x1 2143517715 5 13 17 1,3 4 12,5
K0338.7220684 B EN= 1.4404  Xtoix X
by Dk%al A Ripfaozo 6 M12x1,52551,7208 17 6 14 19 1,8 7 14,5
K0338.7230884 B ENZe 1.4404  Ktoix A S w
e |:|||:-:|"E| A RiAfagzo 8 M16x1,533 68 261023 8 19 24 23 15 35
K0338.7241084 B ENCT 1.4404  Ktoim MBS
Ao DL‘?EI A =5y 10M20x1,533 74 281225 10 22 30 2,8 15 30
K0338.7241284 B AE|Ql 1.4404  AtQix MBS
a2y DL‘?EI A =5 12M20x1,533 78 281425 12 22 30 28 15 39
K0338.7251684 B AE|Ql 1.4404  Ktoix A S 16 M24x2 40 96 321828 16 27 36
09 % MS S 32 2
Bla A ot 2l Z RAL 3020 0 40
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  4/4



